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MATHS

BOOKS - PSEB (PUNJABI MEDIUM)

Sa-fard frrfed

1.7ad ffa 34T x, y M3 z-9d T g&3Hd ferar & a8
FHET : 90°, 60°, 30° € ds gBdt J 3t famur
SHTES Y3T I3

[


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_hhRIIOMwvyX0

| @ Watch Video Solution

2. Adg &g Iy 2 feur nigu3 I& 37 fom € fomr-
IHTEs U3 dd

° Watch Video Solution

3.2 fdgni (- 2,4, —5) "3 (1,2,3) & fme
E YT 2 ferr-dATEs U3t ad|

o Watch Video Solution



https://dl.doubtnut.com/l/_hhRIIOMwvyX0
https://dl.doubtnut.com/l/_CKJEEb7DG258
https://dl.doubtnut.com/l/_BbSqnCfP7PYQ

4. x,y M3 z- gigni 2 femr-anTes u3T 33|

o Watch Video Solution

5. a8 fa fae
A(2,3, —4), B(1, —2,3),0(3,8, — 11)

AHIT &I

° Watch Video Solution

6. i (5,2,-4) 3 7e =t M3 B 37 + 2 — 8k
€ AHI3T JuT € 2dcd M3 diacine AHidaS & U3


https://dl.doubtnut.com/l/_YL0YAFlu1oOt
https://dl.doubtnut.com/l/_zda2rinsVdfl
https://dl.doubtnut.com/l/_cwZEZsZbJFki

aJl

o Watch Video Solution

7. fdgnt (-1,0,2) M3 (3,4,6) 3 J 3 A'E TH YT
2dcd AHadE U3 93d|

o Watch Video Solution

8. ffa oy © gJIidmMes  AHladS
a:—|—3_y—5_z
2 4

AHlaaS U3T 39|

+6 3 fam Fo @ 2oeg



https://dl.doubtnut.com/l/_cwZEZsZbJFki
https://dl.doubtnut.com/l/_vbVgks5N5Wfe
https://dl.doubtnut.com/l/_wlIUXSwjqfjf

| & Watch Video Solution

fa3 are SELES

©

7:3%+23—4l%+>\(%+23+2l%) 3

T =51 —2j+ u(3% + 25 + 6/%) ¢ fegag de

Y3 Jg|

° Watch Video Solution

x+ 3 y—1 z+ 3

10. f&3 g U3 3 :T: 2
w@wjl y14 2~ 0 3 o gz um



https://dl.doubtnut.com/l/_wlIUXSwjqfjf
https://dl.doubtnut.com/l/_Lx7WcpCT9LtH
https://dl.doubtnut.com/l/_rGfIoXdYvcra

| o Watch Video Solution

Nl I, 2 g 9 fslesn ot us Al

e 2dcd AHlags Io:
7=%+3+>\(2%—3+I}), "3
7:22+3—k+u(32—53+212)

° Watch Video Solution

12. foHafEy3 &3 arei Juet ;| W3 o

7=%+23—4l%+>\(23:+33+612) "3


https://dl.doubtnut.com/l/_rGfIoXdYvcra
https://dl.doubtnut.com/l/_A2G6ut6eRfVK
https://dl.doubtnut.com/l/_qdTxbkV2B5D8

‘?:3ﬂ+ﬁ—5%+u@%+ﬁ+ﬁ@06 S

fég fs8a3H Tt usT ad|

° Watch Video Solution

13. 87 A3 T 2dcd AHlade U3 ad A HS e 3

% A et 393y Rie 3w o wivsy
V29 T T

2oed 20 — 37 + 4k J|

° Watch Video Solution



https://dl.doubtnut.com/l/_qdTxbkV2B5D8
https://dl.doubtnut.com/l/_TwRJpG2rEgNZ

4. I35 7 - (6%—33—21%)+1=0 3 S
fdg 3 ure e B9 feardt eaed 2 fenr aAfes U3
adl

° Watch Video Solution

15.7AH3S 2z — 3y + 4z — 6 = 0 &t y® fHg 3 gat

3T IJ|

° Watch Video Solution



https://dl.doubtnut.com/l/_Q7vBFFvsaldv
https://dl.doubtnut.com/l/_zkavQsfit5wV

16.HS g S AHS8 22 — 3y + 42 — 6 =03 U

Jre B9 € Ug' € fagen »ig usT ad|

O Watch Video Solution

17. 67 AH3S T 2dcd M3 ddciiimea AHlade U3
ad 7 e (5,2,-4) f€d Ater I w3 2, 3, -1 ferm mMgu3
THI 4T3 B9 J|

o Watch Video Solution



https://dl.doubtnut.com/l/_lJoA7LNK5LeY
https://dl.doubtnut.com/l/_ob0edRSv59jX

18. fegni

R(2,5, —3),8(—2, —3,5),T(5,3, —3)fed

7S €8 AH3S T 2dcd AHlddeE U3 a4l

° Watch Video Solution

19. 87 AH3s © AHlade U3 &3 1 x, y M3 z-gfanf

3 gHED 2,3 M3 4 ¥i3d ¥3 dcer JI

° Watch Video Solution



https://dl.doubtnut.com/l/_VIvwFIoN9Ud2
https://dl.doubtnut.com/l/_enemwNExBvNl

20. AH3H 7-<5+3+7€)=6 "3
g (2%+33+4l%) = 5@ ae w3 fe (1))

fed A= @& AH3S T 2dcd AHIadE U3 a4

° Watch Video Solution

ol TIHE fx Juyt LT3 _ Y-l _2-5
| = -3 1 5

r+1 y—-2 2
-1 2 5

3

o Watch Video Solution



https://dl.doubtnut.com/l/_4gdRyxAtqxDJ
https://dl.doubtnut.com/l/_QLhOBgtpmBQS

22 & HH3®  2x+y—22=5 n3

3z — 6y — 2z = 7 < fegdd A< gy fedt enra

YT dJ|

° Watch Video Solution

23, © HAH3® 3z —6y+2z=7 w3

2 + 2y — 2z = 5 & fegarg A= usT ad|

° Watch Video Solution



https://dl.doubtnut.com/l/_luUseJseOBog
https://dl.doubtnut.com/l/_JYpxJ81Mdsss

24, fdg (2,5,3) S| HH3S

e (6;: _ 334-2]%) = 43 g3t ysT |

O Watch Video Solution

x+1 Y z—3
25. 4T = Z = M3 HH3S
> 2 3 6

10z + 2y — 11z = 32 fegag ds u3* d3|

° Watch Video Solution

26. 87 3% <l Aidge U3 ad fan €9 fbe (1,1,2)
Afg3 & M3 7 AMSsT 22 +3y—22=5 M3


https://dl.doubtnut.com/l/_KY0cLAzcHut2
https://dl.doubtnut.com/l/_ToP551WZ3Tt7
https://dl.doubtnut.com/l/_cfJk44dXnkOu

r+ 2y — 3z = 8fEg Ida e BT JI

o Watch Video Solution

27. fae P(6,5,9) 3

=

>
(«

A(3, —1,2),B(5,2,4),C( — 1, — 1,6) g

-
=

fsgurfas AH3S € gt usT ad|

° Watch Video Solution

28. TIAg fa gt

r—a+d Y—a z—a—d e
a—-§  « a-+d



https://dl.doubtnut.com/l/_cfJk44dXnkOu
https://dl.doubtnut.com/l/_Tz06sAOxTIzY
https://dl.doubtnut.com/l/_qgFc8QLbH1gh

x—b+c _ y—>b _ Z_b_cHﬁIBB'TEI'cSI
B— B B+

° Watch Video Solution

29. 7 fig ¢ foged »ig Uzt 99 e foenr
A(3,4,1) M3 B(5,1,6) & H®E< =&t guT Xy-

38 & deet JI

o Watch Video Solution



https://dl.doubtnut.com/l/_qgFc8QLbH1gh
https://dl.doubtnut.com/l/_U3xJaNYIIT5k

1. 7dg f€a 94" x, y M3 z3d € &8 gHEd
90°, 135°,45° & d< g€t J 37 fom @ fomr-
3ATENS U3T I3

° Watch Video Solution

2. f€a oy € femadAls U3 99 7 faded »idt
gfagn @ &% AN'S ac g§76< Ji

o Watch Video Solution



https://dl.doubtnut.com/l/_y2l03NcrbAfP
https://dl.doubtnut.com/l/_aQS6CnBRSY93

3. Aad fEa ouT © fom miau3 18, 12,4, 37 fen 2
ferar-aneis ot I

° Watch Video Solution

4.v3n g fa g (2,3,4), (-1,:2,)), (5,8,7) AHIHT TS|

o Watch Video Solution

5. feq {337 &t gamef @ ferr-adntdls U3t ad Aad
397 € firda e (3,5,-4), (-1,1,2) "3 (-5,5,-2) TS|

| ﬂlll,;,l,\'!,l,, o~ _01__n°*_ __ |


https://dl.doubtnut.com/l/_2rMrfyxBu3u3
https://dl.doubtnut.com/l/_g11zM2QjJ5Br
https://dl.doubtnut.com/l/_kcF2wH1fziyJ

{ = vvaldn vidCo o0i1ution ]

6. Tagag fa o JAEs

12 3 4 4 12 3 3 4 12
13’ 137 13’13’1313’ 13° 13’ 13
B {35 3uTe ygayg 89 J|

o Watch Video Solution

7. €ang fa fent (1,1,2), (3,4,2) 3 I d AT T8l
4T f8en (0,3,2) M3 (3,5,6) fed A @&l ™ 3 B9

.
=
=

J1

° Watch Video Solution



https://dl.doubtnut.com/l/_kcF2wH1fziyJ
https://dl.doubtnut.com/l/_zrWxijvLpg3v
https://dl.doubtnut.com/l/_Vou7XIlwZT1h

8. Tgn'g fd fdgni (4,78), (2,3,4) 3 J d AT I
guT fgegntt (11,:2,]) 3 (1,2,5) &0 A< =&t gy @

HAHT33 I

O Watch Video Solution

9.f8¢g (1,2,3) 3 gIAds =&t oy € AHlage U3t ad A

23 31 + 27 — 2k © AT I

° Watch Video Solution



https://dl.doubtnut.com/l/_Vou7XIlwZT1h
https://dl.doubtnut.com/l/_3EIfK8vYYwwf
https://dl.doubtnut.com/l/_FSnSLtAuMQ4a

10. fife fam & Afast &g 20 — j + 4k 3 IFds
w3 aed i + 27 — k < fomr f¥g Are et dyr
gdcd M3 IS gy feg AHidae U3T dd|

° Watch Video Solution

1. 8H Iy & diachms AHigge U3 dd A fie
r+3 y—4 z+ 8

(-2,4-5) 3 A 3 M3

3 5 6
< AHT3J JI

° Watch Video Solution



https://dl.doubtnut.com/l/_z9JeBujlNx93
https://dl.doubtnut.com/l/_WWPbRIZZd9BQ

122 ffa Iy w JIcdms AHlEdS

—5 4 — 6
“33 :y; :zz 31 fom Jur w 2aeg

AHlaaE u3T 94|

o Watch Video Solution

13.4S g M3 (5,-2,3) 3 H'S 28! oY € 2dcd mi3
IS gui feg AHidaes U3 dd|

° Watch Video Solution



https://dl.doubtnut.com/l/_0SLYqSKuVgVs
https://dl.doubtnut.com/l/_Z79PVWltk009

14, fHenft (3,-2,-5) M3 (3,-2,6) fed TrAIS T8t I
€l 2deg n3 IactHmes gut g mHlade u3T 33|

° Watch Video Solution

15. JgHA3 fegadg S U do:

7:22—53+l%+>\(3%+23‘+6l%) "3

7=7%—63+u(%+23+2l%)

° Watch Video Solution



https://dl.doubtnut.com/l/_7WHsX8UajEO5
https://dl.doubtnut.com/l/_Nxpixuh3MtBC

ecr:273—3—56ic—|—,u(3'z—53—4l;)

° Watch Video Solution

o Watch Video Solution



https://dl.doubtnut.com/l/_X0s1VM3rBn5j
https://dl.doubtnut.com/l/_esso7B92YAPS

18. Fu2 fegag 3 U3 A3 % _ g _ ; w3
r—5 y— 2 z—3

1 1 8

o Watch Video Solution

9. p T W y3r g3 3 fg =

l—2z Ty—-14  z-3
3 2 P77
7Tt y-5 6-z
3 P71 T~ s

"3

YJHYTD B9 J<|

° Watch Video Solution



https://dl.doubtnut.com/l/_0I03G7GnRNj7
https://dl.doubtnut.com/l/_MozuNc6t67tG

ZC_E_E a
1_2_3uanu3883€|

o Watch Video Solution

21. Jue 7:(%+23‘+I%)+/\(3:—3+l%)
M3 =2 —j— k—l—u(21+]—|—2k) S

fegarg feEa3H gdt usT a3

° Watch Video Solution



https://dl.doubtnut.com/l/_0vbdau5OGBlS
https://dl.doubtnut.com/l/_qYc2lFsNmX22

) 1 +1 1
22. oyret w;L :y_—(),:'zdlr w3

_3 5 _
wl :y_2 =z17€fﬁ€€6ﬁaﬁs§a—aﬂ+

€l 3T dJ|

° Watch Video Solution

23. JUE fHd&’ © 2dcd AHlade foHaBu3 I ©
fegag € fs8a3H ¥t u3zT I3
?:(%+23+3l§:)+>\(%—33+2l%) "3

7:42+5§'+6l%+u(2%+33+l%)

° Watch Video Solution



https://dl.doubtnut.com/l/_BxOyDgZSMSWh
https://dl.doubtnut.com/l/_INfijYfvP0tl

24, e fHIs @ 2dcd AHlade foHassy3 7s ©
fegag & fs@s3H ¥ uzT Ad

T=(1-ti+(t-2)j+B-20k 3

7 = (s+ 1)+ (25— 1)] — (25 + )k

° Watch Video Solution

25. z = 2 T AH3S © Mi3®g ot feur dATds W3
Hs fig 3 gdt usT a4l

° Watch Video Solution



https://dl.doubtnut.com/l/_l0yzfvUGgJBP
https://dl.doubtnut.com/l/_uFoPV62KazWQ

26. z +y+2z=1 < A3 T nfsgdg <t fomr
3HATElS 3 Y& fig 3 gdt u3T A3

O Watch Video Solution

27.2z + 3y — 2z = 5 T AH3S © Migsyg o fomr
3Ardie ni3 ys g 3 gdt usTadl

° Watch Video Solution

28.5y + 8 = 0 T AH3S ¢ nfgsy < fomr dndls
n3 Y8 fig 3 gdt usTadl


https://dl.doubtnut.com/l/_7ggTqUQet4dI
https://dl.doubtnut.com/l/_FT3P0eC3vtq2
https://dl.doubtnut.com/l/_FxPELLcfoHG1

o Watch Video Solution

29. BH AH3S €' 2dcd AHIdde Y3T dd, 1 4a g 3
7 fearet gt 3 & ni3 2eed 37 + 55 — 6k 3 My
JI

° Watch Video Solution

300 ff3 HAH3® © dJIddms U3T  do:

7-(%+3—l§:):2

° Watch Video Solution



https://dl.doubtnut.com/l/_FxPELLcfoHG1
https://dl.doubtnut.com/l/_WqG8XS5wJr7a
https://dl.doubtnut.com/l/_JHeixB4nkVLk

31, 83 AH38 © Jdddmas U3t do:

7-(2%+33—4I%):1

O Watch Video Solution

32. f83 AH3® © JIdHms U3t do:

7. [(S—Zt)§+(3—t)3+(25—|—t)l%} =15

° Watch Video Solution

33, fo5 it fg wws e 3 49 o B @ da/ure

efegem nigusTad: 22 + 3y +42 —12=0


https://dl.doubtnut.com/l/_R1ery29KtLTp
https://dl.doubtnut.com/l/_RgRpB9ps8iZy
https://dl.doubtnut.com/l/_ml5VTjK3cmyS

o Watch Video Solution

34. fi mfash ffe ww e 3 49 o &g @ da/ue

Sfogeamausad: 3y +42 -6 =0

o Watch Video Solution

35 fost mftrst fog s e § 49 o Ba 2@ da/ure
2 fsgem M uT i o + y+ 2 — 1

° Watch Video Solution



https://dl.doubtnut.com/l/_ml5VTjK3cmyS
https://dl.doubtnut.com/l/_tHA9Om5XhqCU
https://dl.doubtnut.com/l/_7RIQhq5UpyU1
https://dl.doubtnut.com/l/_kHaYkLO7wQMb

36 Fo3t mitst fg s e 3 49 o Ba @ do/ure
2 fisgew wia US a1d: 5y + 8 — 0

° Watch Video Solution

37. f&t wast @ »dls AH3® T edeg w3
gt AHiage U3t dd # e (1,0,2) fed AT
FReM3 i + j — kAH3S © nifsssy I

O Watch Video Solution



https://dl.doubtnut.com/l/_kHaYkLO7wQMb
https://dl.doubtnut.com/l/_XtUqtJiG4RMo

38. fd3T Ha3T @ ndls AW3® T 2dcd M3
It AHtdae U3 ad 1 e (1,4,6) fed AfEr
M3 i — 2] + k AH3H @ mfgsg I

° Watch Video Solution

39. 87 AH3® T AMlade U3 dd # fras 35
fign fed Irge I : (1),1), (6,4,5), (-4,2,3)

° Watch Video Solution



https://dl.doubtnut.com/l/_FcLe75YPBJh4
https://dl.doubtnut.com/l/_7m5V7O1rjh9p

40. €9 AH3® T AMlade U3 ad A feas 36
fignt fed grgeT I: (1,,0), (1,2)1), (-2,2,-1)

O Watch Video Solution

41,7438 2z + y — z = b ©MJT de dIe M3d 43

SU3TIJ|

° Watch Video Solution

42, 8H AH38 T AHldde U3 ad fareT y gd 3 »i3d

Y3 3 M3 1 38 ZOX & AHT3J J1


https://dl.doubtnut.com/l/_DtYWJYUmKsOG
https://dl.doubtnut.com/l/_LJPNVQIfBMmE
https://dl.doubtnut.com/l/_EhUz6M3um8un

o Watch Video Solution

43. 89 AH3® T HAHlGde U3T ad A HAH3S
3x —y+22—-4=0M3z+y+2—-2=07%2

are e (2,2,1) f€9 Bwer J|

° Watch Video Solution

44. 89 AH3S T 2dcd AHlade U3 dd 1 AHN3®
7. (2%+23—3l%) e (2%+53+3l%) —9

ot e ou™ M3 (2,1,3) feg Swer I

‘ o Watch Video Solution |


https://dl.doubtnut.com/l/_EhUz6M3um8un
https://dl.doubtnut.com/l/_8L1e81naJtbV
https://dl.doubtnut.com/l/_6q3iyE9QLyPV

4535 ¢z +y+2=1mM32c +3y+4z=57<t
gy fed WA ACETIM3I3IBar —y+2=0

3 89 38 T AHlddes u3T Jd|

° Watch Video Solution

46. FH3® fAgst © 2dcd  AMidade
?-(22+23—3l%):5 3

7 (3% — 37+ 51%) — 3Ta e fETdc Uz a3

o Watch Video Solution



https://dl.doubtnut.com/l/_6q3iyE9QLyPV
https://dl.doubtnut.com/l/_ZqJz1W2G4Yyf
https://dl.doubtnut.com/l/_oajBXz3jaGca

47.43" I3 fq df {3 are ANSST € H3 AHEd 96 A
B9 Jo, M3 6 AfE3t &g Add & 3 f&g AH3d I8
M3 & dt B9 I& 37 BI& © fegdd d< U3 da:
7r + 5y 4+ 62 +30 =0 3

3r —y—10z24+4=0

° Watch Video Solution

48. 43" g4 fg ot fid3 are AH3ST € 13 AHI3I I& &
B9 Jo, M3 B AfF3t €9 Add & 3 ffg AH3d I8
m3 & df 89 I& 3t §a& 2 fegdd d< U3 Ja:

20 +y+32—-2=0M3z—2y+5=0



https://dl.doubtnut.com/l/_qUnog3pYGFPK
https://dl.doubtnut.com/l/_amZVKBWVsFZc

\ o Watch Video Solution

49. Y3 3d fa Jt {3 a1 AH3ST & #3 AHSd 06 A
B9 J6, M3 61 AfE3t &9 Add & 3 ffg AH3d I8
M3 & d B9 I& 37 BI& © fegdd d< U3 da:
2 — 2y +4z+5=0 3

d3r —3y+6z2—1=0

° Watch Video Solution

50. Y3 99 fa &t f&3 I AH3ST @ A3 AHEd J6 A
B9 Jo, M3 B AfE3t 9 Add & 3 f&g AH3d I8


https://dl.doubtnut.com/l/_amZVKBWVsFZc
https://dl.doubtnut.com/l/_iIvGDRN3MIyN
https://dl.doubtnut.com/l/_a4qu44bW7WhP

M3 & It B9 I& 3t BI& © fegdd d U3T d:

2 —y+32—1=0M32x —y+32+3=0

° Watch Video Solution

51. Y37 gd fa ot &3 are AH3s © A3 ANST I8 /7
B9 Jo, M3 B AfE3t 9 Add & 3 feg AH3d I8

m3 & df 89 I& 3t §a& 2 fegdad d< U3 Ja:

4 +8y+2—8=0M3y+2—4=0

° Watch Video Solution



https://dl.doubtnut.com/l/_a4qu44bW7WhP
https://dl.doubtnut.com/l/_1N6A0LULMIO1

52. fg3 gre g 3 fd3 Ire Hars W3S &t gdt Uz

ad: € (0,0,0) AH38 3z — 4y + 122 = 3

O Watch Video Solution

53. {3 gre fie 3 {3 are Hars AH3st €t gdt uzr

a3: g 3,2) AH3® 2z —y + 22+ 3 = 0

° Watch Video Solution

54, fd3 gre fig 3 &3 g1 Ha3 AN &t gdt uzr

ad: e (2,3,5) AH3S z + 2y — 22 = 9


https://dl.doubtnut.com/l/_a6cM7w0FKqRb
https://dl.doubtnut.com/l/_nvyPeLCkT367
https://dl.doubtnut.com/l/_rvLZxGP400SP

o Watch Video Solution

55. fe3 are fig 3 fd3 Ire Hars W3S &t gdt Uz

3J: € (-6,0,0) AH3& 2z — 3y + 62 — 2 =0

o Watch Video Solution

56. fed8 fa Hs e (2,1)) 3 &% HE8s =&t gur
f8ent® (3,5,-1) M3 (4,3,-1) ©M'T €1 34 3 BF J|

.
=1
=

° Watch Video Solution



https://dl.doubtnut.com/l/_rvLZxGP400SP
https://dl.doubtnut.com/l/_SBYNttPQz1il
https://dl.doubtnut.com/l/_h3OCJwaqYIki
https://dl.doubtnut.com/l/_kniZKPmhaadt

57. Add € YIdHUd B9 Jye ¢ four duEls
ll,ml,nlhﬁlg,mz,ngkﬁmﬁﬁw
def 3 B9 T fegr IATe

ming — Mony, n1l2 — n2l1, l1m2 — l2m1 Jol

° Watch Video Solution

58. 60t JuTe © fegdd d< U3 ad fAda € femr

MAYU3 a,b,c "3 b-c, c-a, a-b TSI

° Watch Video Solution



https://dl.doubtnut.com/l/_kniZKPmhaadt
https://dl.doubtnut.com/l/_bgGLS20OeHqB

59. x-gd € AHI3d n3 US fg &9 Ae 8t dur &
miage u3T 94|

O Watch Video Solution

60. Had fdgnt A, B, C, D € foden »id gHEg
(1,2,3), (4,57), (-4,3,6) M3 (2,9,2) J< 37 AB M3 CD

Jyret & fegard de U3T 9J|

o Watch Video Solution



https://dl.doubtnut.com/l/_TOr8Hd6HPfLv
https://dl.doubtnut.com/l/_HYV0AlQbZC0h

) —1 — 2 —3
61.ﬁaaéb|1€1w :y—k:z "3
-3 2 2
-1 —1 —6 . .
wg kzyTzz_5 YJAUd &89 J<S 37 k

T HS U3T |

° Watch Video Solution

62. fg (123) féd fod®e =&l w3 38
7.(2+z3—5z;)+9:o§z%aawe°raaza
AHlageE u3T a4d|

° Watch Video Solution



https://dl.doubtnut.com/l/_QTRcz2csTzV0
https://dl.doubtnut.com/l/_l3R9woYy5Yin

63. g (abe) fEd wAe TH n3 3
7.(%+3+I%)=2éﬁr¥ﬁ3838?w'1aaz

YT dJ|

° Watch Video Solution

64.311@*7:62+23'+2l%+>\<%—23+2l%>
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